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CIXIE &t
CIXIE Ol &t
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o
CIXE & D18 24

chl: (=R
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
CIXIE &t 10,756,638 19,780,241 /9,023,603
= 150,000
Jl 4,823,000
= 5,783,638
CIXE Olef &Y (&Y - SAIILLUHEX/ MBS 4,752,250 4,242,919 509,331
st
[ 150,000
= 4,602,250
CIXIE &g D8t =4 1,986,500 365,200 1,631,300
= 150,000
= 1,836,500
CXEEY 4R = 6,500 5,200 1,300
201 er23| 1,500 2,000 A500
01 At2teltl 1,500 2,000 A500
OICIY 2t=53l JHAl 1,500
202 04dl 5,000 3,200 1,800
01 =LHOHI 5,000 3,200 1,800
OotXEdy g2 =8 5,000
NA=EOXESEAXA(=2D) 300,000 300,000 0
[ 150,000
= 150,000
308 XtXIEMSO0IE 300,000 300,000 0
= 150,000
=S 150,000
18 SIS0t & A AS A 300,000 300,000 0
OXNS=CUXNESHAUNA 300,000
= 150,000
< 150,000
OICIOIOE &332t &4 1,500,000 50,000 1,450,000
403 AXIEHMSA=Z01d 1,500,000 50,000 1,450,000
01 A2 E2XE 1,500,000 50,000 1,450,000
O0ICIoIotE aZ32t &4 1,500,000
Al IIBHIE d& Z2RE(IIETRR) 180,000 0 180,000
308 XtXIEMSO0IE 180,000 180,000
01 RSN EES 180,000 180,000
OAl IIBNE 85 Z2HE 180,000
SOOI AMHIA &Y Sd 1,239,440 685,840 553,600
SIOIOIEIABIA B2 =& 8,000 10,000 22,000
202 04l 8,000 10,000 22,000
01 =LHA LI 8,000 10,000 A2,000
OHYHIOIEMHIA AR =& 8,000
A0LE CIOIEHAIEl =8 (20HRERIR) 30,000 0 30,000
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M OXE &St

M CXE Ol &Y SH(MY - SAILLUHEX/MHEE - DESE)
©hel: EIHI0IH MHIA & 4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 glztol & 30,000 0 30,000
02 2B YA E X 30,000 0 30,000
OSSEot MM SHA UHSHAIEH 30,000
OIOIE &2 2 - A2 MEH 24 (SIHHEXE) 180,000 0 180,000
308 AHXIEMSOIE 180,000 0 180,000
18 S| 2SI &HAEAIE 180,000 0 180,000
Ot &2 2z - A2 MEH =4 180,000
o= 200" JIgt RF(2HAFE ) 517,440 675,840 158,400
308 AHXIHMSO0IA 517,440 675,840 158,400
13 SI[2S0He A AS A 517,440 675,840 158,400
OZAJe 2O0IH AEIESXRAME 22 517,440
CIXEER 88 A8l AT AL (2HEEXR) 504,000 0 504,000
308 XXM SOIA 504,000 0 504,000
01 XN BSELES 504,000 0 504,000
OUXNEEZ 58 2zt d- A 504,000
CXE Sataty =8 1,526,310 2,450,879 N\924,569
CAE sgatd g2 =8 6,000 6,000 0
202 048l 6,000 6,000 0
01 2L A 6,000 6,000 0
OUIXE sty H27 = 6,000
2 ICT88 D= J1Y K& 72,360 72,360
308 AXIHMS0IA 72,360 72,360
13 S [2S0He 4 A AS A 72,360 72,360
OZ¥ ICTs& &l J1g K& 72,360
ZRMOIHAHOIA RF2S ML (IIIEEXIRZ) 100,000 100,000 0
308 XXM SOIA 100,000 100,000
01 XN B2 LS 100,000 100,000
OZAMOIAHATOIA 2=2F ALY 100,000
WS UHE XA (I XI-) 30,000 130,000 100,000
308 AtAIEMSOIE 30,000 130,000 100,000
09 XIS THSHOl CHEH a2 X 30,000 130,000 100,000
OWS &S XIZAASE 30,000
SWAHIA AFE3EE X AFS (2DHEEALY) 66,000 0 66,000
308 AHXIHMSO0IA 66,000 0 66,000
13 S [2S0tHe 4 A AS A 66,000 0 66,000
OSWAHIA At XI3 At 66,000
AZESI0H(SN) DICHIHS ME(RIHEEXIZ) 375,000 435,000 260,000
308 AHXIEMSOIE 375,000 435,000 260,000
18 SIS0t oA AS A 375,000 435,000 60,000
OAZESI0I(SN) DIUS AtES 375,000
HEHHA 58 ZEIZHA Z-(SIEEXY) 600,000 600,000 0
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CIXIE &t

M CXE Dich &Y S - SAIISLNUR/AGRE - D5
el OXE Sstatg =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XHXIEMSOIH 600,000 600,000
18 SIS0t & A AS A 600,000 600,000
OUIEtHA 58 ZEISHA 24 600,000
ICTOI'=HIOI A AR ZAALA (SIHAERI) 110,700 141,999 A31,299
308 AtXIEMSOIE 110,700 141,99 A31,299
18 S| 2SO A AIE 110,700 141,999 A31,299
OICTOI=HIOIA AR ZEALSE 110,700
NS Xssh Al 24 AL (IR XE) 60,000 90,000 30,000
308 AHXIHMSO0IA 60,000 90,000 /30,000
09 XICHSH0l CHet JAEX 60,000 90,000 230,000
OXSg Xsst HAIM 2 At 60,000
X AMEd CXE S Z2HME(IVEFRH) 86,250 86,250
308 AtXIEMSOIH 86,250 86,250
18 SIS0t & A AS A 86,250 86,250
OXg UHed UAE s ZZ2XE 86,250
=22 UANE oetd aa 20,000 20,000
308 AHXIEMSOIE 20,000 20,000
01 HAHHBAEEXS 20,000 20,000
0228 LXE ey 2l 20,000
AXp MHEY QAC Al ZE(FEXRSONL /=) 5,891,600 15,458,100 29,566,500
Jl 4,823,000
< 1,068,600
20X =58 2AH &4 5,891,600 16,458,100 /9,566,500
) 4,823,000
& 1,068,600
A0HE CIOIEAIEI &4 7,100 8,100 1,000
201 fer= 3| 2,100 2,100 0
01 AtR2te|HI 2,100 2,100 0
OX=2It X222 23 2,100
202 04| 5,000 6,000 21,000
01 =LHO LI 5,000 6,000 21,000
O+20UA 8= 24H &4 =4 5,000
SctRE OIoIEdH 52 2= 28,000 31,000 23,000
201 Ler23| 24,000 26,000 22,000
01 At2teltl 24,000 26,000 /2,000
OK-CLOWD PARK A=Al 2= M& S 24,000
202 048l 4,000 5,000 21,000
01 2L A b 4,000 5,000 A1,000
OK-CLOD PARK EAt=Xl OHHE =& 4,000
=ZUHX 858 2AH BSAIAE 2X(=1) 5,856,500 9,203,000 13,346,500
7 4,823,000
= 1,033,500
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A CIXNE A
M 4%} MOHY DATA ZH(REUXANL /TR
Sl A0ILX B=8 Z22IAE E4 (Shol: ®2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=0lH 5,856,500 9,203,000 A3,346,500
Jl 4,823,000
= 1,033,500
01 A= 2L 5,856,500 9,203,000 A3,346,500
=S0HUHX S5 SclAH SSAAHE
5 5,856,500
Jl 4,823,000
= 1,033,500
CIOIE & SE(Lts3dT/Lerty) 80,000 26,000 54,000
CIOIEl Sajol HEMEIA Sal 80,000 26,000 54,000
OIZAl AEIEY OI:HIOIE MERE (2T RIH) 80,000 26,000 54,000
403 MR HHMSAH=01H 80,000 26,000 54,000
01 A= 2L 80,000 26,000 54,000
O2IZAl AEIEY Ol=HI0IE MEI2H 80,000
YA HHI(CIXNE L) (OIEHIIE}) 32,788 53,222 N20,434
=34 32,788 53,222 AN20,434
2A29 J1=23l 32,788 53,222 N20,434
201 er23| 22,082 33,85 A,773
01 At2tltl 22,082 33,855 A1,773
SEN2E AIR2ell 22,082
202 04dl 7,106 13,367 N\6,261
01 =LHOHI 7,106 13,367 26,261
OFMEZ =0 7,106
203 =4l 3,600 6,000 2,400
M EASHLRFAH 3,600 6,000 22,400
©2021 Olat 300,000% 122 3,600
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